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O HENEs2d0s SHAH &A
20,0003 * 29 * 3L x 128 1,440
307 QI2t0| ™ 40,000 24,000 16,000
03 UAHUHEESAHES 40,000 24,000 16,000
O HEdEsdils MEg& £=2dl N
8,000,000& = 5JH A&~ 40,000
oA Y| (8 /ol ) 611,034 1,057,338 N 446,304
= 100,000
Al 511,034
&l HAOFXH 611,034 1,057,338 N 446,304
= 100,000
Al 511,034
AOFEH| AP (REAI) 441,874 620,178 A 178,304
101 2121 d] 30,506 28,810 1,696
04 JIZtHIZ22XNSE S 30,506 28,810 1,696
O A2sssChel 22 30,506
o olgQl 73,280& * 1Y * 222 * 12& 19,346
o ¢ 73,2803 * 19 » 42 « 128 3,518
o KXY 80,000 « 1% * 1 « 11& 880
o MEAD BELY
6,720 * 1€ » 27 = 128 2,178
o gYRz4y
80,000 « 1% * 132 * 150% 1,560




FA ot
M Ady

|
Chel: E2 of0

Ot X (Sl & &)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o MIEEE 3,024,000& * 14l 3,024
201 et 1,928 9,928 A 8,000
01 At 22l 1,928 1,928 0
O Az ssCel 23013 SEHMSE ¢
2,400% * 600K = 12& 1,728
O Assshel HE0l=0lAId HHEHA ==
= 200,000& * 1042 200
202 044l 1,440 1,440 0
01 = LH o4 1l 1,440 1,440 0
O ¢er Ald=E &4
20,000& = 2% * 3 * 123 1,440
401 Al HIZ 201 bI 408,000 580,000 A 172,000
01 A& HI 404,616 575,356 A 170,740
O g8 FX0otE =2 =&
20,000,000% = 98.92/100 19,784
O A&5ssCel ANESsE
200,000,000& * 99.28/100 198,560
O g¢s 98 el stz B+
50,000,000% = 98.92/100 49,460
O &8s SSH=XMcE M Fil
30,000,000% * 98.92/100 29,676
O SHg MellE setez B (FUEN)
30,000,000 = 98.92/100 29,676
O ActH AF=42] setez 23 =2 &X(
F0EN) 8,000,000& * 14l 8,000
O &4 SENS =2 ZFH(=2UEA)
20,000,000& =« 14l 20,000
O oot AldE2 FHl
50,000,000% = 98.92/100 49,460
03 Al SR THHI 3,384 4,644 A 1,260
O g8 FX0otE =2 =&
20,000,000 = 1.08/100 216
O A&5ssCel ANEsE
200,000,000& * 0.72/100 1,440
O g¢s 98 el sotez B+
50,000,000% = 1.08/100 540
O s SSH=HM2F MY FH]
30,000,000& * 1.08/100 324
O SHtg MellE setez B (FUEN)
30,000,000& * 1.08/100 324
O oot AlId2 &Edl  50,000,000& * 1.08/100 540
SH=H 2 26,160 36, 160 A 10,000
201 Let2d ] 20,000 30,000 A 10,000
01 At 22l 20,000 30,000 210,000




2 ol

PSRN E‘Q’EHI(%%‘/@H%)
el Ea QIOEA CER-ED
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
O 3s=+8 W ZXHI= M
320,000& * 62.5& 20,000
202 O4dl 6,160 6,160 0
01 = LH 4 Hi 6,160 6,160 0
O BR+0 & A8 5 L =3 #xsol
20,0003 = 29 = 5 « 123 2,400
O 3s=+8 W 2XHI= XM
20,0003 = 29 = 5 » 123 2,400
O HotEHIMY & SR==0 HE A2 &
9| 85,000& = 2H =« 83| 1,360
FENF AHHIAY 143,000 0 143,000
s 100,000
Al 43,000
401 AIEHI L 20 143,000 0 143,000
s 100,000
Al 43,000
01 A& Bl 141,971 0 141,971
O FEXF HHEHIAY
143,000,000 * 99.28/100 141,971
s 100,000
Al 41,971
03 AIE 2 THHI 1,029 0 1,029
O HEXNF HFHIAZ(0.72%)
1,029,000 * 14 1,029
HLAMAZ= DBt RE(2L2/MS) 904,067 916,270 A 12,203
= 130,000
< 145,000
Al 629,067
N - MAE= S35 904,067 916,270 A 12,203
= 130,000
< 145,000
Al 629,067
g dMAE=E |4 97,787 110,990 A 13,203
101 @124l 41,427 39,790 1,637
04 JI2ZtHZ22EE = 41,427 39,790 1,637
O ol MAZ= HEE HOAAIE 2l 41,427
o oIy 73,280 * 3 = 130¢ 28,580
o FHEHE 73,2803 * 3H » 20 4,397
o HXt=+g 80,000& = 3% = 5 1,200
o MEAZ PE+Y
6,720% * 3H * 155¢ 3,125
o AMEEZE 4,125,000& * 14 4,125
201 Let24d] 26,070 45,670 A 19,600
01 At 22/l 17,870 36,470 A 18,600




SN oo ere et ™
A LY MAEZ= Jgt H(SSHL 2 Z/HK)
Chelr Y - dMdAE= 2435 (&)
SA - BB B () - MM - BES Ol &t o San HmEET
O LA MNAEL= EES HME 13,120
o HIHNAIN == 80,0003 = 240H 1,920
o |1 ¥2Y 200,000& =« 60H 1,200
o 2B S GBI M
10,000,000& * 14! 10,000
O flddlMAZ= HEH HAANL =257 750
o ==A 1,500& * 1000H 150
o ME S 12,000& = 1001 = 53 600
O el MNAZ= ME T2 S22 Y9
o M 4,000,000& = 14 4,000
02 =24l 8,200 9,200 A 1,000
O 3232= % HMA 3,200
o HOAL Iz ¢ &dot=Es
100,000& * 202 * 53 1,000
o HOAIM IHY MEB=
100,000& = 24 = 53 1,000
o ol MAE= MEE RQ3t0et 0182
50,000& * 2JH 4 + 12& 1,200
O AIE&EHIRX b 5,000
o HOAIE |Xl2cltl
300,000 * 20H4& * 58 3,000
o M& Z218 ZHl =2l
2,000,000& = 14l 2,000
202 odl 4,090 5,370 A 1,280
01 = LH 4 1l 4,090 5,370 A1,280
O HdMAZ= XHE Z208 L AL EE
a3 20,000 * 2H * 83 82 2,560
O il MAZ=E AXX BIX 0
85,000% = 29 32 « 33 1,530
301 LBHE X 200 160 40
09 #HALAHIXI& 3 200 160 40
O il s & MEHAM 2HK 22
10,000& = 10Y « 23] 200
405 TtabF S 26,000 20,000 6,000
01 AL EFSFHSHI 26,000 20,000 6,000
O fiLdHAEZ= MEEH 7
26,000,000& * 14! 26,000
WLUHAZE DS 2 55,000 55,000 0
307 izl & 55,000 55,000 0
05 RIZtRE = 55,000 55,000 0
O = OtgelAaZ2 24E 55,000
o SHEFMYMIIP XSHY 12
300,000& * 509 15,000




2N
X ZH -
L= B

el

off eferetel M ot
YA MAZ= DBt RE (2L 2Z/HK)
e - MdAXZE 2A3

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
o SESMYMIIR EBHSY 22
200,000& = 1009 20,000
o +NYTERH N
200,000& = 1009 20,000
Y MAE= s T2 )H 261,280 261,280 0
= 130,000
Al 131,280
202 O4dl 1,280 1,280 0
01 = LH 4 Hi 1,280 1,280 0
O ol MAZ= s HMEH L SHHR
20,0003 = 298 = 49 « 83 1,280
307 gl2tol & 260,000 260,000 0
= 130,000
Al 130,000
02 It M AHE L 260,000 260,000 0
O il MAEZ= ME =218 249 &
260,000,000& * 14 260,000
= 130,000
Al 130,000
HYAMAEZ= HERA 45,000 45,000 0
307 21201 A 45,000 45,000 0
02 IS AMHEL 45,000 45,000 0
O ¢ & HgdldAZ= T2 X
45,000,000& = 14 45,000
M-S UMY ARUS 5,000 4,000 1,000
307 21201 A 5,000 4,000 1,000
02 IAHFAAHEX 5,000 4,000 1,000
O ==& M@ AR T2 )H
5,000,000& = 14 5,000
H==AZtH 82 QEWS 60,000 60,000 0
307 glz2tol & 60,000 60,000 0
04 QIZHSHALALE B = 60,000 60,000 0
O H=AlZt 832 RLEWS
60,000,000& = 13l 60,000
O=AZH 8= FEHEHE 30,000 30,000 0
307 glz2tol & 30,000 30,000 0
04 QI2tHAALH 2 & 30,000 30,000 0
O H==AlZH 8= FEAEUE
30,000,000& * 13l 30,000
Ol 8= &l MAE= 13 150,000 150,000 0
< 45,000
Al 105,000
307 glz2tol & 150,000 150,000 0
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F et gkl X
Al dAE=
& dMAE

[
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0x
tol

e
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O
~
0

= - — SHE]|
SN HE B (BH) - MR - BES e bl D=2t
< 45,000
Al 105,000
04 212t ALAL 150,000 150,000 0
O o= AMAEZE )3
150,000,000& * 13l 150,000
= 45,000
Al 105,000
goficted =M EUE 200,000 200,000 0
= 100,000
Al 100,000
307 glz2+ol & 200,000 200,000 0
< 100,000
Al 100,000
04 212t AL 200,000 200,000 0
O goflet
200,000,000& * 13l 200,000
< 100,000
Al 100,000
e Q2 (ol aretal M) (I1EHIIE) 65,599 76,435 A 10,836
2| 34,660 45,496 A 10,836
A2l 34,660 45,496 210,836
101 @124l 34,660 45,496 210,836
01 2= 9,382 9,064 318
O ==& 22X J S 9,382
° 62 97,4583 * 3H » 8¢ 2,339
o 7= 88,0343 = 10H » 8¢ 7,043
03 2R (LRI HF) 22K+ 25,278 36,432 A11,154
O At2822x4 16,250
o <L>AZF
15,0463 » 3H » 20AI2F = 12& x 150% 16,250
O 522 9,028
o LB =Y &5 L ALS 2l
120,369& » 1H » 502 * 150% 9,028
2l 30,939 30,939 0
=3l 30,939 30,939 0
201 Yete 20,869 20,869 0
01 At 2t 2| 20,869 20,869 0
O gt 8,518,000& * 14 8,518
O =gt 12,351,000 » 14 12,351
202 oddl 6,470 6,470 0
01 ZUod b 6,470 6,470 0
O 2MA2 6,470,000 = 14 6,470
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